

November 20, 2020

City of Pryor Creek 12 North Rowe Street Pryor, OK 74362

RE: Drainage Improvements Various Locations

PRY 19-05

Dear Mayor and Council,

The Drainage Improvement at Various Locations project bids were received and opened on November 12 2020 at 2:00 pm in the council chambers of City Hall. There were two bidders on the project. (See the attached Bid Tabulation for a detailed breakdown of each bid). The lowest responsive bidder was Envision Civil Contractors, LLC, Claremore, Oklahoma at a bid of \$291,072.60 for both Schedules.

Envision Civil Contractors, LLC has the experience and manpower to undertake these two drainage improvement projects as proposed in the plan documents.

Our recommendation is to

- 1. Award the contract to Envision Civil Contractors, LLC for \$291,072.60 and execute the Notice of Award
- 2. A notice of Award as included herein for your use.
- 3. The council should authorize the Mayor to enter into an agreement with the selected contractor when presented with a contract for the amount herein stated.

If you have any questions concerning this project, please do not hesitate to contact us at (918) 664-5500.

Steve Powell, P.E.

Respectfully submitted

Project Manager

Project # PRY 19-05

NOTICE OF AWARD

TO: Envision Civil Contractors, LLC 20125 Mockingbird Lane E. Claremore, OK. 74019	
Project Description:DRAINAGE	IMPROVEMENTS – VARIOUS LOCATION
	submitted by you for the above described WORK ids dated <u>November 12th, 2020</u> and Information
You are hereby notified that your BID h	nas been accepted for items in the amount of:
Two Hundred Ninety-One Thousand a (\$291,072.60)	and Seventy-Two Dollars and Sixty Cents
the required CONTRACTOR'S PE	or Bidders to execute the Agreement and furnish RFORMANCE BOND, STATUTORY BOND, f insurance within ten (10) calendar days from the
the date of this Notice, said OWNER out of the OWNER'S acceptance of you	nd to furnish said Bonds within ten (10) days from will be entitled to consider all your rights arising our BID as abandoned and as a forfeiture of your ed to such other rights as may be granted by law.
You are required to return an acknow OWNER.	eledged copy of the NOTICE OF AWARD to the
Dated this day of	, <u>2020</u> .
	CITY OF PRYOR CREEK OWNER
	By:
ACCEPT	ANCE OF NOTICE
Receipt of the above NOTICE OF AWA	ARD is hereby acknowledged by this
Bv:	Title:

CONTRACT

This Contract, made and entered into by and between: Envision Civil Contractor, LLC, Claremore, OK. an Oklahoma Limited Liability Company, as Party of the First Part, herein after designated as the CONTRACTOR and CITY OF PRYOR CREEK, as Party of the Second Part, hereinafter designated as the OWNER.

WITNESSETH: That whereas the said Contractor is the lowest and best bidder for:

DRAINAGE IMPROVEMENTS - VARIOUS LOCATIONS

for the total bid price as accepted of: <u>Two Hundred Ninety-One Thousand and Seventy-Two Dollars and Sixty Cents</u> (\$291,072.60).

NOW, THEREFORE, the said Contractor for the consideration herein named, hereby agrees to do and complete the work above mentioned in accordance with the plans adopted and approved by the Owner, and on file in the office of the Engineer Infrastructure Solutions Group, which plans and specifications are made a part of this Contract by reference as if attached hereto or written in detail herein.

The Contractor will commence said work within $\underline{\text{ten (10)}}$ days from the date of the Notice to Proceed and perform same vigorously and continuously and complete the same within $\underline{150}$ consecutive calendar days thereafter. The Contractor further agrees to pay, as liquidated damages, the sum of \$500 for each consecutive calendar day thereafter as hereinafter provided in Paragraph 9 of the Special Conditions.

It is agreed that payment for the aforesaid work or material will be made under the terms of the Contractor's bid as accepted as provided in the specifications, and that upon final completion of this contract work, the Contractor will receive the full compensation payment, according to the schedule of prices as contained in his bid as accepted and that upon the receipt by said Contractor of said final claim, the same shall be in full for all claims of every kind and description said Contractor may have by reason of having entered into or arising out of this contract. The Notice to Bidders, the Information for Bidders, the General and Special Conditions of the Agreement and the Contractor's Bid Proposal, each of said instruments on file in the office of the Engineer, <u>Infrastructure Solutions Group</u>, are hereby referred to and by reference thereto are made a part of this contract as if fully written in detail herein or attached hereto.

	F, the said parties of the First and Second Part have als respectively the day of,2020.
	Contractor
SEAL	
ATTEST	(Signature)
(Signature)	By:
Title:	Title:
	CITY OF PRYOR CREEK
SEAL	Owner
ATTEST:	(Signature)
(Signature)	By: LARRY LEES
Title:	Title: MAYOR



BID TABULATION CITY OF PRYOR DRAINAGE IMPROVEMENTS VARIOUS LOCATIONS 11/12/2020 2:00 PM



					ENGIN ESTIN	MATE	CON CON	MJM CONSTRUCTION & APPLICATION, LLC INOLA, OK.			
BID				UNIT		TOTAL	UNIT	TOTAL	<u>UNIT</u>		TOTAL
ITEM	ITEM DESCRIPTION	UNIT	QTY.	PRICE		PRICE	PRICE	PRICE	PRICE		PRICE
SCHEDULE I - NE 3RD STREET AND EASTMANOR ST. STORM SEWER											
1	SOLID SLAB SODDING	SF	3000	\$ 2.50	\$	7,500.00	\$0.45	\$ 1,350.00	\$4.00	\$	12,000.00
2	AGGREGATE BACKFILL	TON	140	\$ 25.00	\$	3,500.00	\$21.00		\$40.00	\$	5,600.00
3	CLASS A CONCRETE	CY	62	\$ 150.00	\$	9,300.00	\$402.00	\$ 24,924.00	\$500.00	\$	31,000.00
4	CLEARING & GRUBBING	L.S.	1	\$ 1,500.00		1,500.00	\$2,990.00		\$25,000.00	\$	25,000.00
5	24" STD DROP INLET, DES. NO. 2	EA	1			3,500.00	\$2,521.00		\$10,000.00	\$	10,000.00
6	DGDI NO.2 INLET	EA	2	\$ 2,500.00	\$	5,000.00	\$2,521.00	\$ 5,042.00	\$10,000.00	\$	20,000.00
7	DGDI NO.2 INLET W/ ACCESS MH	EA	1	\$ 3,000.00	\$	3,000.00	\$7,897.00	\$ 7,897.00	\$15,000.00	\$	15,000.00
8	DGDI NO.2 INLET W/ 8 ADD THROATS	EA	1	\$ 7,000.00	\$	7,000.00	\$10,682.00	\$ 10,682.00	\$15,000.00	\$	15,000.00
9	DGDI NO.2 INLET W/ 8 ADD THROATS W/ ACCESS MH	EA	1	\$ 8,000.00	\$	8,000.00	\$13,533.00	\$ 13,533.00	\$18,000.00	\$	18,000.00
10	4' ID MANHOLE	EA	1	\$ 4,000.00	\$	4,000.00	\$3,775.00	\$ 3,775.00	\$7,000.00	\$	7,000.00
11	5' ID MANHOLE	EA	3	\$ 5,000.00	\$	15,000.00	\$6,558.00	\$ 19,674.00	\$8,000.00	\$	24,000.00
12	24" HDPE, CLASS III, INCLUDE EXC AND STD BACKFILL	LF	105	\$ 80.00	\$	8,400.00	\$87.00	\$ 9,135.00	\$120.00	5	12,600.00
	24" RCP, CLASS III, INCLUDE EXC AND STD BACKFILL	LF	160	\$ 80.00	\$	12,800.00	\$69.00	\$ 11,040.00	\$150.00	\$	24,000.00
14	30" RCP, CLASS III, INCLUDE EXC AND STD BACKFILL	1F	30	\$ 80.00	\$	2,400.00	\$86.00	\$ 2,580.00	\$200.00	\$	6,000.00
15	36" HDPE, CLASS III, INCLUDE EXC AND STD BACKFILL	LF	405	\$ 95.00	\$	38,475.00	\$100.00	\$ 40,500.00	\$140.00	\$	56,700.00
16	36" RCP, CLASS III, INCLUDE EXC AND STD BACKFILL	LF	90	\$ 100.00	\$	9,000.00	\$98.00	\$ 8,820.00	\$200.00	5	18,000.00
17	INLET PROTECTION, IN PLACE	EA	1	\$ 500.00	\$	500.00	\$325.00	\$ 325.00	\$1,200.00	5	1,200.00
18	SAW CUT PAVEMENT	LF	710	\$ 10.00	5	7,100.00	\$2.60		\$8.00		5,680.00
19	REMOVE & REPLACE 4' CHAIN LINK FENCE	LS	1	\$ 1,500.00	\$	1,500.00	\$3,250.00	\$ 3,250.00	\$4,000.00		4,000.00
20	REMOVE 30" RCP AND 5 INLETS	L5	1	\$ 2,500.00	\$	2,500.00	\$2,392.00		\$25,000.00	_	25,000.00
21	TYPE IA RIPRAP (18" MIN.) W/ FILTER FABRIC	SF	400	\$ 12.56		5,025.00	\$7.65			<u> </u>	8,000,00
	TOTAL SCHEDULE I				Ś	155,000.00		\$ 178,276.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	s	343,780.00
SCHEDULE II - SE 14TH AND FAIRLAND DRAINAGE STORM SEWER				<u> </u>					Ť.		
1	WEST GABION A WITH FILTER FABRIC, IN PLACE	SF	548	\$ 70.00	\$	38,360.00	\$42.60	\$ 23,344.80	\$65.00	\$	35,620.00
2	WEST GABION B WITH FILTER FABRIC, IN PLACE	SF	163	\$ 70.00	5	11,410.00	\$42.60		\$65.00	_	10,595.00
3	EAST GABION WITH FILTER FABRIC, IN PLACE	SF	598	\$ 80.00	\$	47,840.00	\$42.60	\$ 25,474.80	\$65.00	\$	38,870.00
4	RIPRAP, TYPE 2, IN PLACE	CY	27			339.12	\$51.25		\$500.00	_	13,500.00
5	SAND, IN PLACE	CY	9	\$ 80.00	\$	720.00	\$66.80	\$ 601.20	\$100.00	Ś	900.00
6	8 INCH DIP, CL 53 SEWER LINE, IN PLACE	LF	80	\$ 150.00	5	12,000.00	\$128.65	\$ 10,292.00	\$120.00	\$	9,600.00
	CONCRETE ENCASEMENT, IN PLACE	LF	20		Ś	4,000.00	\$193.25		\$100.00		2,000.00
$\overline{}$	4" x 12' CONCRETE FLUME, IN PLACE	CY	8		\$	120.00	\$206.50		\$500.00	, ,	4,000.00
9	EXCAVATION & BACKFILL	CY	550		Ś	12.100.00	\$42.00		\$50.00		27,500.00
10	8" DIP TO VCP, IN PLACE	EA	1	•	Ś	500.00	\$435.50	· · · · · · · · · · · · · · · · · · ·	\$2,500.00	-	2,500.00
	CHAIN LINK FENCE, IN PLACE	LF	448		\$	13,440.00	\$32.50		\$50.00	_	22,400.00
12	WATER TIGHT MH EXPANSION LINK-SEAL GASKET, IN PLACE	EA			ŝ	4,170.88	\$381.25		\$800.00	<u> </u>	2,400.00
	TOTAL SCHEDULE II				Ś	145,000.00	,	\$ 112,796.60	1	\$	169,885.00
\neg					Ť			,		ŕ	
	TOTAL SCH. I + SCH. II PROJECT TOTAL BID				\$	300,000.00		\$ 291,072.60		\$	513,665.00
					<u> </u>	,		,		<u> </u>	
									L		

STEVE A
POWELL
12053

CERTIFIED AS TRUE AND CORRECT:

INFRASTRUCTURE SOLUTION GROUP I

Seve Powell, P.E.